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Chapter 7 Formuila Sheet
Math1220
Kelly MacArthur

Log Properties Integrals
Inl=90 fidx =inlx !+ j'siﬂh(x)dx =coshx+
‘x
in(ub) = Ina+Inb ferdc=e +C [eosh(xyde = sinhx + C
. . i }
mn(#y=Ina-Inb jg"tx = i———ma" +C i‘tanh(x}sec R{xydx = —sechixy+ C
na -
‘C;Hi 3
nfa"y=ming J‘x"’dx 25 e o fsec h (xyelx = tanh(x) + O
C a+1

a=constant, ¢ # —1i

i . NP P e
— = dX = 810 )y jcsa B (x¥dx = —coth{x) + C

NI
1 -, - i . ; -
f —cdx =tan” (x)+C jcsc h{xyeoth(x)dy = —cschi{x) + C
A+ x” o
{Wr—“"_ﬁix = Se{:_l E X 3 "}"(ﬁi
o M\/ 2 1 i :
XX i
Functions and Identities Trig Identities
o , sinh x . 2
sin(cos ™ x) =1 -x° tanh x = sin’ x+cos’ x =1
coshx
R —— coshx : 5
cosfsin” xy=+1-x" cothx = T+tan’ x=sec” x
sinhx
I [ 1. 1 2 2
sec{tan x)=+1+x" cschix) = — T+cot" x=¢8¢" x
sinh x
tan(sec ' x)=+/x7 -1, 1f x =1 sech(x)=— sin{x+ ¥)=sinxcos ytrcosxsmny
coshx
'aren . 3 . “ . P +
—xt =1, x<-1 cosh® x —sinh® x =1 cos(x £ v)=cosxcosy+simnxsimny
s [ VR tanxttian vy
sinh™ x = In{x +Vx’ +1) tan(x £ ¥} = "
I+tanxtan y
f . i N . .
cosh ' x=In(x+vx" ~1)xz1 sinZx = 2sinxcosy
. 3 1{‘1“5“ X\i ; - 2 .0 A i o 2
tanh x=+4In i—l<x<l cos2x=cos  x—sin"x=1-2smm" x=2¢cos" x~1
2 ey
{ T2
e )
sech x=In —— .0<x =l
. |
L J
g,:‘- - _)—X
sinhx =
2
¢t e
coshx = ———



Derivatives
DAe)=¢"

L
D (Inx}=—
; .

D}, {xa) — ax(!*l
D (a)y=(nay"
D (sinx}=c¢osx

D _{cosx)=—sinx

D _(tanx) =sec” x

D (cotx)=—csc’ x
D (secx)=secxtany

D {csex)=—cscxeotx

D, (Sin*} X) = =, x e (~11)
\/1 .
-1 ,
D (cos” x) = —=—=,x € (~ LI}
Vi—x°
4 1
D (tan” x)= .
' T+x7
i i ,
D (sec x) = mww—,ix[ >1

xE\/xﬁ ~1

Miscellaneous

. W
Hm(l+ " =e
frl)

To sclve

X

More Derivatives

D (sinhx) = coshx
D (coshx)}=sinhx

D (eschx)y=—cschreothx
D {(tanhx} =sech’x

D {sechy) = —sechytanhx

D (cothx)=—esch’x
1

D (sinh™ x) =

\,-‘XZ'FE

: i
D {cosh™ x} = —=====

2

D (tanh™ x) = l

D {sech™x) = —e

? + P(x)y = O(x), multiply both sides by ¢’ and solve.



